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old S382 2= &0l flow shop SEH
(flow shop: 0124 JIHILF EAES & MIHE HHXISH S AEH, THZ A0 Z0I)

Makespan: &S 2t=6k= Ol Z2l= AlZt
- flow shop EHC| SE2 &= iyl 2I2I0| &=, & AlIZH0l JHE 21 20| S5

Objective: batch 37|t &5 40| 2910 k= &EHE 2/
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=Xote: ‘Makespan’s x4 3t

%‘ + max(qiji) + 7 7 7 ijk
T ) K

ct; * b + moving time + setup time (k = 0)
ct; * b + ctj * aj; + moving time + setup time (k = 1)

minimize Makespan =

e ct;* (b — aij) + moving time + setup time (k = 2)
dijk : production time per batch
ct; : Cycle time of work i
O : Order quantity,
b : batch size
index) i = {1 ... 7}, work number
j = {1 ...7}, work number to help or receive
k = O(NONE), 1(help), 2(receive)

SRSt 0t Index, =R Parameter &3]
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Tabu-Search Algorithm2= £ &l ==
- P

 II2HOIE &&(cycle time, setup time S)

« 21F AR 20l =5= =11 B=lh= 22 &8

8] Foio== j:
return b = ctl[i]l] + mt + st
[[0]*T7 for _ in I':E!.I'\‘-;IEW:?:” if oali]l [|] = 0: # alil [_i 12
return b tLil + mt +
elif alil [J] =
return b

alillil = —alil [il
it i

alilljl == 0
for i in rangeil,

it alilli-1]
alil[j+1] <

return a




5 ZIZ{2t Line Balancing & Makespan Zl22t H3

Makespan HlAt = Tabu-Search &112|& &

 N—

tabu_tenure, nelghborhooc

alculate_makes (b_current, a_current)

= min_makespan

1 and neighbor not in tabu_list:

span

Current Best Make
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ns, tabu_tenure, n

h, optimal

printta_li
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= Production time
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206.20 sec
243.72 sec
272.36 sec
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188.70 sec
166.02 sec
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Plant Simulation= &3S

R L= T
Input Side_Pocket_Start Side_Pocket_End ~ Combine_Pants
Bottom_Fix
' B 2 —
JWM | E— |
Drain Dual_lroniné . .Labeling,Pants Pants,Band. o
i B =
[ .Models.Model = (| X
I .Models.Model
Simulation time:9:00:00.0000
Object| Name |Mean Life Tim¢|| Throughput|F'PH | Production | Transport|Storage| Value added Portion
Drain |Part 2:45.2261 1131|f126 100.00% 0.00%| 0.00% 63.55% | I
Cumulated Statistics of the Pafts W ¢ Drain Deleted
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